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If you prepare these MCQs then Insha Allah Confirm your 12 /12 marks.

—

b #1212 L Tl S o T

» You have four choices for each objective type question as A, B, C and D. The choice :
which you think is correct.

The mathematical formula of Hook’s law is: e Uy Qi o 1
F=—= D F=—o C < B F=-kev A
K T Kx ) o
The formula for time period of simple pendulum is: e Uy 66k /3.( U’L(JJJC;:.DJL-‘ 2
—
1
T=2T[\/E D T=2m |- C T=2n\/§ B TZZHFJ A
m \8 k &
The formula for time period of mass spring is: :q_UmGKfygflﬁ'Lﬁ‘/,@;u’L 3
— —
1
2m|m 2N k . m
Frequency is equal to: :;.&n/,ug%g g 4
n @g@@
1
f——kX D T:ZT[— Og B f——;\/ A

C
V5 %@
[f we double the length of simple pendulum, th%e@ %2-%%25*KIWU"?Q’/UCJJHJHJ%J{/K' .

time period becomes:
! D 2T @@: - B V2TV A
2 & V2

Which one of the following is an
simple harmonic motion?

e QSIS T L A S LSS e Lo 6

. Thespinning of the . The motion of
A bour;cfllrcl)% Il‘)all on earth on its|dkié T}:;ee ili?l?tl?ar:l of .
NPT D :/L/:l‘%ud/u:) C . Jéi B pendulum A
SrGA O i J’m gL N/ J’rd//:fi-:w v
[f the mass of the bob of a pendulum is ﬁli'ff}.f:KJ}”JHJ%u"??-lg,t,:/l‘f@fuwdf&):%0)7'
increased by a factor of 3, the period of the ) 7
pendulum’s motion will: 6L b
Be decreased by a Be decreased by a : Be increased by
Remains the same
factor of 4 D factor of 2 C ) 531 g afactorof2 A
€2 sl §2 sl to FefF 00 €2 bosths
The Kinetic energy of mass spring is maximum . o v i B .
at the position: ??d’f“’&"’-’-“’k’{-f@/&/'b‘g‘ GKJ(’/JLJ/.;‘ 8
None : Both are correct . Mean position . Extreme position o
ﬂé[ Ut (P ,(:ﬁjg’obfﬁ v 4&;;{6[{?1
SI unit of amplitude is: :4_.:;{516:5’#1 9
cm D m v C Hz B Second A
SI unit of frequency is: :4.:/:551(0),{/'
Coulomb ..,J/ D Second 4& C Ampere ~4 B Hertz 7 . v A

The number of waves passing through a point in one " L . b
second is: ’ . . g U.?"?-(’(JWJJ#JIM.J}Q;HUJJ»?J

Amplitude 3#&% D Wavelength a’*éfg; C Displacement e2"3 B Frequencyy™£/ v A
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.............. provides restoring force to the moving

simple pendulum:

[nertia Force of weight

, D ; 3
%54 JAOs

The velocity at high level in simple harmonic motion:

Zero

o

Seldom minimum

[&G’:i‘j’z‘ B

The time period of a simple pendulum of length 1 m is:

1.88s D 1.89s

[f we increase the mass of a bob through 3 m.

then its time period will be:

Become less two
times €2_b s/t

Becomes less four
times ¥z 7k

Christian Huygens discovered pendulum in:

1956 D 1756

Waves transfer:

Velocity ¢ us D Wavelength &é.‘.’gs

Which of the following method is used to
transfer energy?

Tension in string

Z‘LJ/:WJJJ;jjﬁj&ﬂi/&?’/ﬁ}%ﬂb

Resistance of air

sEUt Ll B el »§in A
e gVt v B AT

Minimum Maximum
/ B ol A
e bath L6 sl L 3L 2 L
2.11s B 1.99s v A
5156 ST bl S U S
KL

No change Double

PR A NI R 2 oyl A
Wolph S S st F A S
1656 vV B 1856 A
AR T

Frequency s*£/ B
?‘L.b'}’fdl.’x’ﬂl“iLL/‘P’;}(&}’;@}L’U[LU:JE,?J/C’

Energy S/ v A

10

1§

12

13

All of these " Wave motion Radiation . Conduction A
|"'V“:.»\/ L‘jﬁ}”‘d/g} UJ’dl"J N\ dy/,t(
Radio waves are: @\eb> CUtidsthisyyd 14
None of these . Both E%ngngfnetlc . Electric waves A
u.?’df Uss %ku .,C»C‘ /.O, | )g’,}J/b’gl
@\
Basic types of waves are: U/ u;z(wd:yrﬁg: 15
Four /4 aj\J ( Two » v B One A
Which of the following wavesgirg\e« lightest? ?ugu@;g;du/ e SSiosnr 16
X rays vision waves Sound waves Radio waves
D 4 C b B . b A
,(/u’gl }gf:c)f{,:u& 2 k3l LY VRYA

Which of the following devices can be used to l,vJy,uim_fjﬁf?),ulufjrjf}UTLch.J:.,UTJ;‘;M:»

produce both transverse and longitudinal 17
waves? e LUl LS
A tuning fork A helical spring A ripple tank
D L. B A string (s A

(slinky) & v
In vacuum, all electromagnetic waves have the same:

Wavelength ,é'ﬁ.fg; D  Amplitude sl C

In which state of matter, longitudinal waves
travel faster?

J/:’..«Cf HC’;J"
A Ly s D ks 18

Frequency st/ B  Speedixrv A

?u,?éf:/’//c..ﬁ}wg)}gsjbftg)uﬁg-)bu‘uﬁf;ﬂ. 19

A and B both . Gas . Solid . Liquid A
u}?"}h‘.-’}}fJ[ Ji/ u’)"? él.

:%pakcity-org %v e Sl dinSifs 20
Radio waves Light waves Sound waves

D . » C . o2 B . o b A
LYY, IR A I L3l

:ca.t’M?/inlaKg‘éj;’.wlu%ug/.d/g: 21

The example of longitudinal waves is:

Water waves
Pt

The product of wave frequency and wave length is called:

Frequency Wave speed Amplitude Time period
v D , C , B - A
u”-:g/ Jggtfg{: 5o YA

Types of mechanical waves are: :ugrLJ'IJJ;p b 22
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Five ég D Four e G Three o* B Two s A
The frequency of wave moving on slinky is 4 Jg:-am0.4a"~€f5uﬂHzél—u"fug)d/g;éné//g@@f’

Hz and wave length is 0.4 m. The speed of ; ar, 23
wave will be: ?J”Uf/&f
1.6m D 16m C 1.6ms?! B 16ms-1 A
Which of the following device is used lfo u?»z’z,’uﬁf‘fhﬂszfJuj'/”JTVu/c-ui'chTJ.iezﬂ
produce both transverse and longitudinal 24
waves? e bl U1 L2 Sk
Tuning fork Helical spring Ripple tank String
S D . C ) B A
».«CJ’._J?,{,‘ J/:'Jé‘Lf v VC;‘_J,U Ssa3
Which of the following characteristic of a wave Jﬁ/!{ﬁ'—'?""}d/’”wf"} Sl itz 5t
is independent of the others? ¢y
Wavelength . Amplitude y Frequency . Speed i
2y, s Sk y
A large ripple tank with a vibrator working at 3 L )
a frequency of 30Hz produces 25 complete LR 5045040223040 L Akl izt -
waves in a distance of 50cm. the velocity of the ?Jﬂgﬁ’ﬂad/z:u"-{-t'/'&.izﬂ‘:25ufJ-"U
wave is
1500cms-1 D 75cms-1 C 60cms1 vV B 35cms1 A
Rippl K i ice that i : - %
Rgple nkina deves e e 0 o 4ord £) /4 i S 0GRl T
Electric waves . Mechanical ¢ Sound waves . Water waves A
it gy waves )gf;J%;.’.{ md/ a7 p Jg;d/&g v
The bending or spreading of waves around the gk € o) 7 . , '
sharp edges b ok s é}({e Jer® Lb/:/LUJJLfJJLLQJ’JKJLJ}U 28

Interference UJ 2# D Diffraction J‘g A C %ﬁraéstlon u’( Y B Reflection L/ﬂ’ A

Which of the following quantity does not k\j
change during the refraction? % o S LS punsrsof e diioinr 29

Frequency s v D Wave length, f@ £ Direction o /15 B Speed ix A
The ......... of waves is mdepender%t\@fiﬂ%e other characteristics. Jru” /f’ /,:..:.L:M?' LIPS Jjg, 30
Wave length @f’% D A@]ﬁtude 52&%  C Frequency 54/ v B Speed it A

When water waves enter in a shallower 2 .
: : : P aa S S S S My y s 2]
region, then its wave length becomes: ?'dlf’y”pz"fu Turdn ’J‘ﬁd’d/ﬁi"mg*“’

Remains same :rJfJLﬁs D Zero G Increase ol J B Decrease ﬁ/J A
Which is an example of longitudinal wave? _g_Jc‘»JJg:Jf,fz‘? J 32
Water wave Radio wave Light wave Sound wavexil-
: D ) C & B A
8L STy iS5 sgsd
How does sound travel from its source to your ear? ?.;_[;5 &, J_{T::_(;’ L hd_wly il 33
B . . . :
: 4 . By vibrations in By changes in
By infrared waves electromagnetic . . .
. D ¢ wiresorstrings g airpressurev’ A
SONSIDYY.L Wwave Bt (b e 2 L)
c/J:J&JM:u@?s/ﬁgl SRR A = 2IOUK Il
Sound is a type of ......... energy: ?4‘_(35@/&;/’&5& 34
Chemical &< D Thermal J # C Mechanical ;ﬂ-‘.’.{\/ B Electrical £ A
The series of compressions and rarefactions of a wave is called: :%JMM”;;L'@J‘P*?/EM!@?{ 35

Wave length éff{!:\/ D Focal length gﬁjj; C Time period f;u,g.-(’e’ B Frequency %&£/ A

[ ([ ) [ [ [T i () T [ ) (Y ([ (A (i [ | i T T (S Y (T | i S ([ ) T | (S (i S [ i (T (S Y [ | (1 (U o [ Y | | ) (T ) (S S Y (1 ) S ) Y (T ) Y () S ) (T T () ) () o o () T o[ o ) o) () o o o) o o)) o S/ Y Il ) T Il [T

Sound is a type of energy: ?ﬁ;_(jgu/JJ.jlcfcib« 36
Chemical £< D Thermal J # C Mechanical £~ v B Electrical Jé A
The frequency of tuning fork depends upon: e b AS RSB 37
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'l .l
Amplitude s£&% v D Force J# C  Massul B Length U/ A
The loudness of sound mostly depends upon: G@ pakcity.org %" Sy g AL Sl KA Sk 38
Amplitude 35 v D Wavelength Jf’fg; C Period % z B Frequency ¢*£/ A

The characteristic of sound due to which we J/'utm’v»d’é;’mdx%mwa.wdb’«wr"'quvs’v

fjsdizs;;r;%lUSSIEtgﬁfween two sounds of same :‘L.J oF f/u’/ 39
Pitch & D Loudness %31 C Quality TR 4 B Intensity &"f ‘! A

Intensity level of siren of train is: :;ﬁ;_d,},éf'{"l{u/’végj 40
120dB vV D 100 dB C 130 dB B 150 dB A

SI unit of intensity of sound is: :;..:J{SIK&“;UC?L/ 41
Wm? D Wms-1 C Wm-2 B Wm-1 A

The intensity level of whisper is: :‘g,d)g,&"%?lgﬁfbd/‘j%f/ 42
70 dB D 40 dB C 30dB v B 10 dB A

The sound level of rustling of leaves is: :c‘:_t'}’fJx.lrfo‘KMl//JUﬁ, 43
40 dB D 30 dB C 20 dB B 10dB v A

1 bel is equal to: one bel « 2z 44
10dB v D 90 dB 9 C 20 dB B 40 dB A

The sense of sound remains in our brain is: :;E-_L*a-;ui'éL:z_JuzJL:lebsv 45
0.2s D 0.02s C 0.1s Vv B 0.01s A

When the frequency of sound wave is ?fﬂﬁ'wvufc_u*‘jjgbw;&l?mfdu;@g) d/zﬁfffh_«a 46

increased, which of the following will decrease?
Wavelength and Wavelength and psk\ﬂ;dé Wavelength
. ;, Wl D C S,) B " A
amplitude 55#!»!#43 period 4 /s ufﬁ“h V4 fo:’J
If the speed of sound is 340ms-!1 and 8@)&”“’“10 5ﬁﬁjw, ms- 1340,«.-'J L
wavelength is 0.5 m then the frequency will _ 47
be: @% U
680Hz v D 170Hz /D 0.5Hz B 340Hz A
The speed of sound in distilled wa’geé/aft 50 will be: :%.Jﬂuﬁ,ﬁgéﬁ‘ggd/;ufuﬁ}uiuﬁé 250 48
1508 D @q\@% C 7488 B 7478 A
The speed of sound in air is\y :‘a,Q;J%Lme 49
1267kmbh-1 D 1266kmh! v C 1265kmh-1 B 1264kmh-1 A
The speed of sound in wood at 259C will be: :‘Lg}nui/";?&}{,g;d/mwtdﬁﬂz 50C 50
3980ms-1 D 2000mst v C 1290ms-1! B 972ms1 A
The speed of sound in air at 0°C will be: :%Q;chiv,g 00C %ise 51
331ms1 Vv D 231ms1 C 386ms-1 B 376ms-1 A
The speed of sound is greater in: :frJﬂo;g;,ggJ:csu 52
None of the above J¥(# D Gas Jf C Liquid ot B Solid U # v A
The speed of sound at room temperature is: :%3;@;&/}0%45./;‘}” 53
350ms-1 D 340ms?! v ks 330ms-1 B 320ms-1 A
For a normal person, audible frequency range T T " .
A ek f e 6 L LGl 54

30Hz - 30kHz 3 D 25Hz - 25kHz C 20Hz-20kHz v B 10Hz-10kHz A

Who presented the theory of light? :Jﬁ~ﬁ°€;iad/f;) 55
Bill D Maxwell J u‘(” | L Faraday /.-,’ B Newton o/«
Types of reflection are: u*(ulJ Jﬁb 56
Five &\ D Four /& C Three ¢ B Two » v A
Types of spherical mirrors are: ug(u'ld/;; /ﬂ & 57
Eight #7 D SiX 7 C Four .t B Two » v A
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{| Image formed by convex mirror is: :éudu&aﬂyu’gy"/ 58
| Inverted and virtual . Erect and virtual E Inverted and real ¢ . Erect and real A
E J/}:’;JJ..U’EJ’ J‘:?:,fuﬂl.%g—-' v J’fusl Jfﬂﬂl%“w
A converging 1:nirror with a radius of ZQcm i bt Zem30, .. cm20 RhsKs o L
| creates a real image 30cm from the Jmirror. ‘ s ) > 59
il What is the object distance? Wﬁkf—"‘“(e-é—mg'ff
-20cm D -15cm v C -7.5cm B -5.0cm A
1| An object is 14cm in front of a convex mirror. é;fLJ/@"l_c_lz,;,,wlsécmlllé*_véjﬂfgfﬁ_{l
| The image is 5.8cm behind the mirror whatis ~ S g . 60
| the focal length of the mirror? ?%gféj‘f”@/-f-dtécmSB
] -20cm D -9.9cm Vv C -8.2cm B -4.1cm A
I Which of the following quantity does not -+ .., . . _— sl s a8
il change during refraction of light? o J’Mdu[‘:'u:‘j“)’?jﬂdlmlwg/ WM& 61
i Its wavelength " [ts frequency [ts speed . [ts direction "

f o v N e dU e

| The index of refraction depends upon ?‘L.t'ﬁ(:JKJL‘;'gUﬁ{)JJTJgEl 62
| The object distance The image distance The speed of light The focal length

- , D , C . B T2 A

i {,J-"bi()‘ ,(:J‘b&@’.l LA O R4 /,.,a“'/’ff)’

| Refractive index of air is: :ﬁ:_bﬁjgj:l;{ Akl 63
i 4 D 3 C 2 B 1V A

1| Refractive index of diamond is: :;ﬁ_t‘ﬁu’fj’cl}g Ak 64
i 242V D 2.21 C 1.52 ~ B 1.33 A

! &

1| The refractive index of ice is: 6<}f> :ac_t’;fu’ffcl}g A3, 65
i 1.33 D 2.42 C ~N\3TV B 1.52 A

: - . N Er o

I The refractive index of water is: @ :;.t'xu’g:curg /iJ.Jgd.L: 66
] 1.33 v D 1.39 %%5“ 1.36 B 2.33 A

Il The speed of light in glass is: @ ° :%Q;quui}_f’ 67
1 <

3 x108%ms-1 D 3 X 1%@&'0 2 x108ms-1 B 2x108ms!l v A

| The speed of light in water is:{,&@f :%Q;Jdﬁuut&g 68
i 3.5x108ms-1 D 108ms-1 C 2.0 x 108ms-1 B 23x108ms! v A

I The refractive index of crown glass is: :é.mffcl}f /'.?.MJL@?I/ 69
1.52 vV D 1.6 C 2:21 B 2.42 A

I The refractive index of ethyl alcohol is: :;.bnu’gjw}g BES ) S 70
1.36 vV D 1.31 G 2=21 B 2.42 A

| If a ray of light in glass is incident on air S S Fetuell Sne il veidh

| surface at an angle greater than the critical 71
1| angle, the ray will: Sneidnne fa oS
Diffract only Partlal-ly refract and Reflect only Refract only

! LG D partially reflects ¢ S o B 05

! SR g M;};y&f/}m{ ¥ ind 7 % aed

The critical angle of water is: :cc_t‘ﬂﬁlﬁ_/ KJ.L: 72
i 950 D 900 C 48.8 v B 4880 A
The conditions of total internal reflection are: 035 /“J JQ’/J ;:Ubi 73
i Five ég D Four e C Three £ B Two » v A

| Critical angle of glass is: :‘a.t'ﬂﬁ'ﬁ../( g2 74
0 D 900 C 450 B 420 A

H|  Optical fibers work on the principle of: ?u}z_/rg{")}i’u’(/{uﬂ'r 75
1 Both B and C Total internal Continues refraction Refraction

] : D . & s B i A

1 IO reflection a3 IR el
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Endoscope which is used for the diagnose of throat 19(‘%;)’"&3%&/&@""'7;:@'3{ NS A

is called:
None of the above Bronchoscope Cystoscope Gastro scope
S N 7P T B el A
The power of lens is equal to: :4‘;_,;1,4;5&@2:' 77
4 S 3
f D f C f B i A
Which type of image is formed by convex lens on a screen? ?g_ruélJfJ4d)¢ﬂJff 78
Upright and virtual Upright and real Inverted and virtual Inverted and real
J{)?:/_w;l(_f,y v . quslfjf - J/)Z,JBJ}lUUl : ny:lub"l 5
Focal length of concave lens is: ‘¢Jy£~éﬁfigf/é{¢/ 79
Less ¢ D Greater s’ c Negative v g Positive A
Image formed by a camera is: _%Jﬁoﬁ%&%glﬁgﬂo /:( 80
Real, inve.rt-ed and Virtugl, 1‘1p'right, Virtua.ll, L}p}‘ight and aiila}:iil;\ilgir;lfga
magnified D anddiminished ,, diminished B Y A
&2&%;;1& chf J Srerny wJ/:?,.A S erislS Jsv:*fJ/zZ»

Ljf{&%Jﬁl(?"J{/
Which type of image is formed by the converging lens of e : e e E
human eye if it views distant objects? ?‘s"’L‘g'JfJJKJf)LJ”ﬁLC?J’fKJ'dV' 81

| Real, erect, same
Virtual, inverted, Virtual, erect, Real, inverted,

size
magl;li)fiefd D diminishe(il C dll’l’lll’llS%) B | ot (;.‘ Lok
Sl 2 GoF epie§ s} 53 b@’ 2 @«}t
Q /,!/,L
The human eye consists of: % :‘::__B‘L?k‘l;uﬁfldlﬂ 82
Concave mirror : Convex mirror }K Convex lens . Concave lens B
oy z/u’f / \> HASY A
The change in focal length of huma \ 1s ‘called: :;.JMJ;JJ@J{}JPLJT 83
Near sightedness dation Distinct vision B Modification A
u*{jf'f’l//”:.’: | mbﬁ v sl d/pdﬂ”
A positive electric charge: e /»Zwlg.f 0 vk 84
Repels a neutral Attracts a neutral Repels other Attracts other
charge D charge C positive charge B positive charge A
P A et S ey bt SO Lo sid NIl (TS
Types of charges are: :ug(u'ﬁd/zjtg 85
Five ég D Four . C Three o B Two » A
An object gains excess a negative charge after %WT@J%&C‘}JP%/?U’ el iyl e pnd =
being rubbed against another object which is: -¢f)°'/”j’f
All of these Positively charged Negatively charged Neutral
. D ) , C ) })@ B . A
rV,:a Agulg,(:ﬂl’x.igj A?/Lg/;J}b % Jiy
Electroscope is used to detect: :gﬁ:_b’@k@@a-?lc')}gl 87

Resistance =21 » Voltage @J 33 C Charge ¢ v B Current =/ A
Which instrument is used to find the nature of the charge? :§.L“lek( Je L Lo S Jws jfd/@;tg 88
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Microscope 5 Spectroscope . Electroscope " Stroboscope A
?/!C)/?’L :-/Iﬁ}g h...-f}”f}/'.J\/ h?_./!c)",)/f"
A thin foil made of ......... is connected to the ,
ground in order to protect the gold foils of = Lffgfﬁ-yﬂf‘g’d%[d'ﬂ'59—”@3@-’;3/&?' 25
electroscope from external electrical e Fplize ot J fids J’: b
disturbance:

I N ) ] ] i [ s N [ s T (e e s e T [ [l ] ) s | o ) i o e e i ] el [ ] (o il () i ] (e [ ] [ (i il () i il (e i o] (] [ ol () [ il ] ) (o ] i (] ) (] () [ ] ] it (][] e ] () o] ] i ] ) o] [ i [ [ e S | e e s ) e ) e et ] S s ] e e (e ) B i ] [l e ] s ] [ K

O

] I I
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Silver (. D Brass (% C Copperi<st B Aluminum{sdv A

| According jco Coulomb’s law, what happens -to ?L@g:wifyﬁuyﬂLmlgbﬁ)l?u//!&flkféuiﬁ':ﬁ.#/

1| the attraction of two oppositely charged objects . s 90
1| as their distance of separation increases? W‘”-jf/'g{-J”’JU‘/U?”LU'

1| Cannot be determined 5 Remains unchanged c Decreases 5 Increases "

| Fedes ST g ds e E

Hl The Coulomb’s law is valid for the charges which are ?‘Luy‘y‘“& L;Z;lgf I b/..Jf 91
Stationary and Stationary and Moving and non- Moving and

1| large size charges p point charges P point charges B pointcharges A
2l 7l Theetinl SeS7  Zheeiiyenl S

] A positive and a negative charge are initially ) ) 2,

1 4cm apart. When they are moved closer av’--%-m!%)*"ﬁiCm4{.ﬂi’d’ﬁ'f6ﬂg!.:’gﬂ'f~){f~§' -
1| together so that they are now only 1cm apart, ey I T ndiseml et

| the force between them is

16 times larger 8 times larger 4 times larger than 4 times smaller

] than before D than before C before B than before A

E {fﬂo)&z‘tfl6:..% Jﬂo}kil}@a% Jm:g_)l}@a% v Jﬁﬂbﬁl-a.%

1| Two smal! charged sphergs are separated by e FSs o VW  26 2mm2y s 2 e

| 2mm. Which of the following would produce N S © 93
1| the greatest attractive force? ednid U_/”E‘;C'-"-.'”’QJ-‘):‘:"%}'JK
+2qand-2qg v D +2q and +2q C -1q and -4q B +lgand+4q A

| SI unit of electrical charge is: :.:;_ﬁgSIK@Jng A 94
Coulomb _,Jf v D Ohm (4 C Volt :J»/I\ B Ampere /ff*l A

I Lol O =

il The value of k in Coulomb’s law is: 6\9}{}) PP, g kuf.‘u)l?é_,)f 95
9 x 10-°Nm?2C-2 D 9x10°Nm2C2 v C i *iQ@NmZC-Z B 9x108Nm2C2 A

Two chargeFl spheres are plrflced aft a distance I ;:JfJ,J,g,ucf_.fT--.l.;@//,:,kﬁimmZ;@f’iyzlg»

il of 2mm, which of the following pair has the %y U 96
I more attractive force? PpRZ AP i d LB
+2qand -2q v D +2q and(l_jr\\ (b\gg G -1q and -4q B +1lgand +4q A

| The unit of Coulomb’s constant 1n\r§‘£\\i\ : e wr g I eJF g 97,
i Nm-2C? D W—ZC-Z C Nm2C? B NmCzv A

H In system international, the value of k in the Skt e L stinl b giess 57453 SIS AVaN (b‘/ g8
1| presence of space or air between two charges: e sl

9 x 10-18Nm2C-2 D 9x1018Nm2C2 C 9 x 10-°Nm2(C-2 B 9x10°Nm2C2v A

One micro coulomb is equal to: :;.L"y:/,u?b@/?’t.{l 99
} 106C D 10-6C v C 103C B 10-3C A

| Electric field lines are always: A W A 100
E Pass each otherin a Pass e.aCh Sans i Cannot pass each Can pass each

] . : a region of more

| region of less field . other other

| osiwdlums D feld C o B S th pni A

: ..’L{.:LU‘ A ggIU’:LLIFLUﬂ;;uE) gj.fy/u..‘ /!.“GJ’/_.._/’!)J; IX S S

I U.?d//u:":(;/» u.?&/'/z}:”')(;/» v t

I The intensity of electric field at any point in space is called: :ugjd/faﬁd/jy_f}gu?(&-oféué 101
! . . Electric field Electrostatic Electric field

| Electric potential . . . . .

] N D Intensity C induction B lines A

| LB P i1 B Ny

| The unit of electric intensity is: ;%ﬁ;zg&f%f,u(;g, 102
] Nm D NC1 v C Ns-1 B Wattes, A

| The unit of electric field intensity is: ;é_ﬁ;iglgg«‘.:",;gj/zg, 103
1 N2C-1 D NC!1 v C NC-2 B NC A

™ ol
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| |

Five joules of work is needed to shift 10 C of Sodbld Zi bl Ll e oLt C10L

il charge from one place to another. The R i . 104
| potential difference between the places is: Knt S ol n Leluingl-e byt

] 10V D 5V C 2V B 0.5V v A

1 In SI, the unit of electric potential is: % pakcity.org%o :‘g.:..:ggf’&“’ ;-‘t(’” KinLgJ 4 105
Newton ¥ D Joule J# C Volt &/s B Watt <1 A

One volt is equal to: :‘L/,u;:)»._{l 106
i 1C1 D 1]C1 C 1] B 1]C A

I Capacitance is defined as: _,T_.GL?J@ AUy SF o | 107
] V/Q D QV 5 Q/V Vv B VC A

| Capacitor is used to store: e b eid L3 ) 252 108
| All of the above V. D Resistance =z C Charge ¢/t v B Current 2/ A
Charge storing device is: :§_J701,L/3Pf ¢l 109
Fuse Jx D Dielectric /4935 C  Capacitor #%v B Resistor ~ A

| The SI unit of capacitance is: :4;;_&551@’? = 110
Farad 47 v D Coulomb o  C Ampere B Volt 2y A

| The methods of combination of capacitors are: & LI j’ﬁf)/”-:'{ 111
[ Five ég D Four C Three o B Two » v A

Hl  In parallel combination, each capacitor has the same value of: :Zdﬂé’_:.qb{l(:%/yglﬁu:ﬁ({J'ﬁ 112
: Chargfe and Capacitance Charg€® Voltage

i capacitance D iy u’/ C gﬂ:\,) y & B 5 4 A

E u:gtf";cﬁléjlg JEU O/bé:\\\e ‘:‘ e

| If 2 volts is stored in a capacitor when 4 C / ”@f}}cﬁgﬂiﬂfu"c:-E:,—Jéztg-gJﬂl/ﬁf.%.d/ﬁ{f/ﬁ

1| charge is given to the plates then its %@, ' - } 113
1| capacitance will be: ~Q@ AEN AR

! 8 F D 6F{,\3\<>\/; C 4F B 2F A

In CIrCUuits; s allows AC curljililg ass but ::;D?;/_ﬁ;/DCdgz_t'/u‘L.:;/ACautJ/ 114
I stops DC current: ~T : “ ®

Thermometer - SpMc resistance = Resistance o Capacitor B

Fiy P oS Waall saf of

One nano Farad is equal to: :./T-_,::,;gg;jbg 115
f 1 x 10-18F D 1 x 10-12F C 1 x 10-9F v B 1x106F A

| Capacitor is used to differentiate .bet‘weeln .high LU pf L L5 S35k 3o sk 30

| frequency and low frequency. This circuit is 116
1| called: e bl S e

]| None of the above Filter circuit Parallel circuit Series circuit

] 4 D o C B A

: SO e e 4 PNy Y

| Micro Farad means: e pe A Bl 117
10-12F D 10-9F C 10-¢F B 10-3F A

| In Mica capacitor, ......... dielectric is used: :é.t*nJLx«HJ}?l&m%ui}f{(@)Jﬂ 118
f Mica ¢t v D Paper ¢ C Aluminium &4 B Plastic£s A

| Each bolt of lightening contains about: :5‘_@;@414@/@&?&” 119
| 4000 million joule 1000 million 3000 million joule 2000 million

energy D joule energy C energy B  jouleenergy A

| GaJze4000 521000 v ZJ2g3000 G AJze#2000

il An electric current in conductors is due to the flow of: _‘L,?:J'EL‘{ LS 120
I Free electrons Positive charge Negative ions Positive ions

] T D o C o il B P A

i 59 ABLIT 2 Mo 39 Tk F %4
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o= =0
In an electric circuit, electrons move from b"f/?-j/’Jﬁb{f(&—ﬁb{f”Uf’fg'Ufi//uf/ig‘@ 191
il higher potential to lower potential: i s S
Gains potential Release energy Loss their identity Gains power

5 Zu/ J%Jf""f; 0 L el . LB esls ) b Ly /S

| The SI unit of current is: :;.:fgSIK&/J}?: 122
Watt =1 D Coulomb -y C Ampere %4 B Volt /s A

H| Flow of charges is called: :u}‘:&/ﬁgi‘z;g 123
Ohm 4 D Currente/v C Coulomb ¢ B Volt &/ss A

One micro ampere is equal to: :$¢c*ﬂ/,1,</_‘-€;{«u/?t.._,g 124
j 10-12A D 109A C 106A v B 10-3A A

| One milli ampere is equal to: :c‘:.l:’n/,!,c/:x’,f-ld'_,{l 125
10-9A D 10-6A C 10-5A B 103A V A

| KosCohargepuses hrouh WS I IO 1o a7 OGO SR 12
] 5mA D 50mA v C 5A B 20A A

| What is the voltage across a 6 Ohm resistor SIAL i et S e SA3 2 Ut il i) 159
1| when 3A of current passes through it? _%W@fﬂ,

: 36V D 18V v C 9V B 2V A

| When we double the voltage in a simple thl;@;!ﬁu‘uﬁujq_;/%;/@v»ufJ/a;vugﬂ,,e 198
| electric circuit, we double the: J fe

Both (a) and (b) A#Bu#s»» D  Resistance J5 | € P%\)ﬁ% :_;-," B Currente/v A

1| Electric potential and e. m. fare: ) A\%\\\\O e_m_f;,,.y*gj;g, 129
Both () and (c) Have dii:“ferent NG re different Are the same

: . D units S terms B terms A
Bl U gL Pop A AN 5E L

The resistance of an ideal Voltmete}§<> v :4_3 Wt~ sk Hadsdef 130
Zero dn X Fuv D Vegxﬁi% wlies  C Very less ﬂw B Less f A

SI unit of emf is: @ :4._1:;531'@.1(_@1(.:61 131
j IC1 D C C NC B NC- A

SI unit of resistance is: :4‘-&{@7&.1&_/3’)} 132
Ohm v D Coulomb __,Jf @ Ampere /-..;’5! B Volt & s A

If 3 Ampere current passes through a resistor L"”@?”—"'/L'LJ';GJJﬁ/KA3¢-Uf?5/£(7"6/7 133
1| of 6 Ohm. Then the voltage at its ends will be: 3

i 36V D 18V v C 9V B 2V A
Iflwe.increa.se both cur.rent and voltage in a :(u;»@?»nl&/Lﬂijiﬁj/fu‘?buf&f/ugﬁ?e

1| circuit keeping the resistance constant then 134
1| power will be: :Jﬁ'l;;g_):.!/( gy
Becon/les foui“ times . BecoEnes d?uble - Be(iomes half . ul:r{lir}?;;r;e i |z

] S kot St Sz bnoid e PN

The specific resistance of copper is: ;é_@ﬁﬁ;juw‘j{’g 135
! 1.2 D 1.5 G 1.69 v B 1.99 A

The specific resistance of nichrome is: :;.8,/:‘_;3’ nb S (:/? ; 136
| 600x108wm D 300x108Wm C  200x108Wm B 100x10¢Wmv A

| The resistance of 10-8Wm copper is: :%U‘:’/‘J;JJ/‘:K]_O'SWTH 137
] 1.69 v D 2.75 C 1.62 B 5.25 A
Flow of electric current in conductors is mainly due to: e bne ,.?sJu/a’why/J}?Ju:}%f 138
O s==============s========================—==—=s—==—==—=————======—=——==—==—=====—=== b0
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o= =0
Free electrons Positive charges Negative ions Positive ions
s Wi a D b C T ;_,,/C. B S b A
Sy AT 'S, AT e VAEI?,
Wl_lat happens to the intensity or the | S ubuied S ibitidSund e s2e 2 py -
brightness of the lamps connected in series as . | 138
more and more lamps are added? R A e
Cannot be predicted b Remains the same - Decreases " Increases i
c‘:.dé"wv l:‘?“u.‘fﬁf’éf 4_&;/:@5/\/ %l:'yz,.;l,bl

When resistance is connected in series, the current
flowing through it is:

None of the above Equal Zero Different

s < D C . B .
ufdfa.uﬁw Bl AV e s .rz'_L"yz'JL? v

[f we double both current and the voltage in a fu;»é"'nﬂl&/Lﬁézwfﬁrd&buﬁ&(/ua(/"/7

:.:f/ﬂlggji,c,uﬁulﬁérgljﬁﬁzﬁfwﬁ'}ﬂ_ﬁ 141

A

circuit while keeping its resistance constant, ) 142
the power 2l 3 /s
Quadruples Doubles Halves Hemains
S bt : (o polilpol | - Sz byid B unchanged A
d_l.?!i' /¢ SRS A% —el g@%ﬂ&}d[u:
What is the power rating of a lamp connected ST LEAT PEAS AL L tne iy L12V 143
to 12V source when it carries 2.5A? Eothanit SN2 B e
60W D 30W v C 14.5W B 4.8W A
SI unit of electric power is: :;_:J{Kﬁg.(}?l 144
Ampere A4 D Volt &/ss C Joule J= B Watt &b v A
The electric power of washing machine is: ,(e@%amwgufﬁgw/fdué_%;{ 145
50 D 100 C 7500~ B 800 A
. @\‘:\\O
1KWh is equal to: 0%%\ e bn,1KWh 146
4.6M] D 3.6M] v %@ 2.6M] B 1.6M] A
One kilowatt hour is equal to: @ :4_4!4157.:”54 147
S
3.6 x1012] D 3.6 X 1?%; o C 3.6 x106] B 1.6 x103] A

\

‘P\\\; :é.t"}’f,cl,{&l;...gl 148
S D ) C Js-1 B Is A

[t does not allow DC current to pass but allows AC Y el ] . P, b
current to pass: '?V-’L//’(—”ﬂf@’dgk}LJ/‘/uffw/Jdﬁg 149

One watt is equal to:

Thermometer Specific resistance Resistance Capacitor
- D 0 C . B é A
Sk T i J //..5(\/
The potential of neutral wire is: :i-_&ﬁJﬁ‘f;J )7y 150
Ten volt . Zero volt . Five volts . one volt a
s ;«J;:}“’ v dﬂnég _”J:}\_{l
Which statement is true about the magnetic poles? ?‘gu»ugvdﬂ}w&ﬂ;,@? 151
A single magnetic Magnetic poles do Unlike poles
p?le does not exist not affect each Like poles attract o gl
uﬁ‘”/ﬂ;/:):?jdgu@j{g"wﬁ D other C U?Z-/dd)jéfwa B p A
e I T g e LS STy
P a_yzu:?/;ul/l/gu@;? :
Study of magnetic effects of current is called: :;_L“JJ/.’JL&'K.::«I/:'IU’%L'&L&/ 152
Electric capacity Magnetism Electromagnetism Electricity

5"5/_/}9! D (j’-.?/é‘ ¢ (%}ff}}?l v 5 S5 A 5

A temporary magnet which is due to the flow of current :%LWJ‘;L&/JJ/’L{U?#&L& 153

in a coil:
Electromagnet " Magnet ; Electric intensity " Magnetic field i
ok 20 ok SIS A A e

-

[ ([ ) [ [ [T i () T [ ) (Y ([ (A (i [ | i T T (S Y (T | i S ([ ) T | (S (i S [ i (T (S Y [ | (1 (U o [ Y | | ) (T ) (S S Y (1 ) S ) Y (T ) Y () S ) (T T () ) () o o () T o[ o ) o) () o o o) o o)) o S/ Y Il ) T Il [T

MRI helps in the diagnoses of the disease: D@PGKCW-OVQ%D (¥ 20 ufu‘%.ﬁJd;Lg Sw/MRI 154

|
2]
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I. .I
Kidney s/ D Ear o¢ C Eye T B Brain {4 v A
{| What is the direction of the magnetic field lines inside a ?Léﬁﬁgwgfﬂj.@?méafm_{l 155 |
11 bar magnet? = o i
i . . From north pole [
: There are no From side to side From south pole to to south pole q
ma..gnet}c/flel.d ll?es D X6 rwatedl north pole B L ludiins pia A
i| IS U SASUyS ke g 3l | by | :
| The presence of a magnetic field can be detected by a ?%nggb@{;{,ﬁf;ﬁmﬂg.@? 156 |}
Il Magnetic compass Sta.t ronary Stationary positive Small mass
i . gL ) hegative c/:harge C y s ufl/ "y i
i ol | chargesbikile =l |
H| If the current in a wire which is placed W A St St e 2 b osf oA GE ]
1| perpendicular to magnetic field increases, the . i 157 |
1| force on the wire AL S i y
Will be zero % Remains the same ‘ Decreases " Increases A
i Jx/ dﬁngﬂ’dﬁ’ tfn‘( Lf&?.\/ [
I Michael Faraday belonged to: :lﬁ’&gggil/fft 158 |-
Russia 5 Saudi Arabia America . England "
i Jo e uyg Ll f :
A D.C motor converts: _g_J/J“,gi')’rddj 159
_ Electrical energy Mechanical ener Mechanical
. El.ectrlcal Chelsy into mechanical into chemic &Y energy into :
] into chemical energy £ ;ﬁ .o g electrical energy i
| energsi | d/’ufé‘i(fu 8 energy/ A 2k G /J/'k(
| ISRV Qs -
] R4 o<§9;, e 0
| Which part of D.C motor reverses the dlrectp S\‘;/L"éiﬁfdwﬁc”é«ﬁ L& 2L S o
of current through the coil every half—cyc}LQ Cetys Jkefosd
y The split rings The brush @\, The commutator The armature !
I 7 D & C b B - A I
s #, < i(\ : LA o] -
1| In DC motor, coil can rotate@r\aénetic field - i I
i i re (8 e A sk A 3 161 i
il through an angle of: q'ucr’{“(“ I B S irsds 16 :
] 60° D 30° C 45° B 90° v A 0
)| The device which converts electric energy into O~ . e L P P o I
| mechanical energy is called: ' Il u{:(;/;ﬂ[@/;_f,? 21k 162
] All of the above Transformer Generator DC motor I
- . D - C ) B L A -
I Which device was based on the principle of electromagnetism? ?ffJ;gJJTf4Jf1£rf3(5,}gi 163 [
| Mobile phones ¢#fl» D CD’s 73 C  Electric motor /»J /1 v B TV ol A
Electromagnetic Induction and electrolysis represent: :+r/ﬁwf€/ujfgljglfilu@?,}?1 164 |t
| Michael faraday Newton George coulomb . Ohm A
E ;51/2‘_)?L V4 B _J/Z,/b ﬂ)lujlf ;
| The direction of induced e. m. f. in a circuit is 5 : I

¢ ; iy iy o o) | (o Lo he |
| inaccordance with conservation of bg-mlind g JJJ/JJ%MUW%M o I
] Energy Momentum Charge Mass i
| wssec/Sga v KA S IGEF P S I U :
| The device which converts mechanical energy il e I
! e b T eSS AN S 2 1 l
1| into electrical energy is called: ‘*:'L/J"’Y JJ/"JQ/O'[&/’ il G '
i Electroscope AC generator DC motor Transformer i
il b j C b b B 1k A i
i :.J}C'}/"g' //%./?JL—'\/ /}"dd) /JW'/ 0
I In hydroelectric power house, ......... works on AFs . s s ) W s I
| the principle of Electromagnetic Induction: rg":'"b" L"j“”“‘@?”g' “““ ‘u.‘:wtwgbf/?uwt, 167 |1

O
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I. .I
o@ pakcity. org%o St
| Generator x2v D Voltaic cell £ ¥ C Motor /» B Galvanic cell J£ ¢+ A
| The example of mutual induction is: 2§.dffgﬁ/f/flf);’ 168 |
I Relay . Transformer " DC motor AC generator [
i &, Y=V 4 IS A 0
| The step-up transformer: s 169 |
I Has less turns in Has more turns in . [
| the secondary coil the primary coil [ncreases the input _Increases the
| Lﬂ/gfdd’f’fdﬂ?J D Z-ﬁfgwkiufj'fd/b;d C volta%e v B inputcurrent A :
! c,_L“Lﬁ?ji:J/@’J::._i{:C)l %f@ﬁ[ﬁ/&.@dl i
i i O L 0
| The device which is used to increase or 8w e !
o . o ‘ I . 5 v e b > 1 |
| decrease alternating voltage is called: = YJWléLLL/G)E”'L'{fCJ”“Q/ Holtlgl | 174 i
] Solenoid AC generator Tran sformer . Electric motor A [
I Xy AL L YR )’rJ}’-?l i
| Transformer uses: :%v/JL&l/;M; 171 |
Voltage (”f TRV 4 D Power .| C Energy ¢/ B Charge ¢t A
| Transformer is used for: e bude 602 172
| None of the above . Both " Decreasing voltage . In\;:(l)“ﬁaasgl:g A
E u’fd[ SLDR'A gj_cf.é_/'?/[é’ﬂ: 4‘12—1‘@2’(@:’” E
il Step down transformer: 13 A2 ier 173
1 Has more turns in Has more turns in ﬂ& Decreases inbut i
: its primary coil its secondary coil Df\fé‘?&é?g Input ; P :
I t Lrr L) 0
i L!‘/Gﬁ/u*d'l/d/l/(f D L.K/GDJLJJJl:(dJ,VGJ C (j% R s B | curkent A [
1] %&\LL ~" nﬁ.«;dl \/ Lt’/{/ i
i ol ol ‘ I
| Transformer works on the principle of: Q ?é.t'/(&::dﬁl‘/(/mji} 174 |
El_ectros-t Atie Mutual@dctlon Ele(-:troma-gnetlc Self-induction
i induction ey induction B e A 0
= Q"/. - ‘bo' ol =
i s M o 1 ey A :
| The process by which electrons are emitted by ) i ; 2o )
I a hot metal surface is known as: = M‘u’:@’w’/g 'Li/r/d/wu:‘fjwj L 175 I
| Thermionic emission Conduction Evaporation Boiling d
i W D f, C . B 7 A i
I f?/"u:;:' PR u'f g OLE ) iy !
Hl The particles emitted from a hot cathode surface are: -ugLMuﬂ@JBc,éijéfp@}%;gél 176 |
Electrons . Protons . Negative ions . Positive ions A
I 9 :P?u;, r"c /T},y [
| The potential of tungsten filament to produce &-*"WJ’CA- Li—fﬂftf/ﬁfa'ij—ﬂiu//'vﬁ’/ -
| beam of electrons in thermionic emission is: :“._t.”.‘}/:z
f 12V D 9V C 6 v B 3V A :
1 The particles emitted from the hot surface of cathode are: :uggujLuJ_ﬂ@,«L&c,i/rijﬁf 178 |f
! Electrons Protons Negative ions Positive ions .
: . D . b C oo 5 B S 2 A :
] 13/'.*!\/ b2 P4 cjld/ O i
I The screen of cathode ray is made of a material called: :ug;:fﬂ < 3;4&0&.}{.,@@/{“&/;15#{ 179 |
Glass 2+ D Phosphor.#iv C [ron gs7 B Zinc &’ A
I The grid potential of cathode ray oscilloscope is: :‘Lrnffbgijvﬁﬂnlz_ﬁéf 180 |
7.ero s D Neutral J/y C Negative & v B Positive =2 A
Deflecting plates are the components of: W mﬁ‘,,,fé _____ J‘:ﬂ’.ﬂ; 181 |t

|
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O e e e e e e e e e e e S 22
Computer Fluorescent tube CRO Radio T
Sl . b . i o - Yy .
The components of cathode ray oscilloscope are: :w&é.‘,;ﬁ;/iﬁ{ 182
Six # D Four . C Three % v B Two » A
George Boole discovered: Wsleid st 183
Geometry Main algebra Arithmetic algebra Boolean algebra
2 0 et O AeAs P Ady A
[f X=A-B, then X is 1 when: 18w 1U4X3X=A-B/I 184
AislandBis 0 AisOandBis 1 AorBis0 Aand Bare 1l
A=1.4B=0 D A=0.B=1 . A=0.B=0 B A=1.4B=1V &
When input of OR gate is 1, then output X will be: :%Xq:s,sfﬁﬂl%@uf_aﬁ’f_g 185
All o D A=0,B=0 C A=1,B=0 B A=0,B=1 A
When input of OR gate is 0, then output X will be: :%Xq:z,sfﬁﬂOq,ufJ_bLLg 186
A=1,B=1 D A=0,B=0v C A=1,B=0 B A=0,B=1 A
The basic operation of NOT gate is called: S Llefer 187
Subtraction jg # D Inversion .9 v C Multiplication — » B  Addition J"::-fy A
The number of input terminals in NOT Gate is: ::‘_Bmfﬂd/}%}%uwt;fNOT 188
Three % D Many sl e C Two » B One (I v A
The output of a NAND gate is 0 when: ZﬁfﬂOd@d&ﬁJJﬁCf 189
Any of its inputs is . Arnly of its inputs . Both of it§ { \pjgs . ir?glilgsoefri;so A
0 A=1\B=1 is 0 A=0LB=0 @}é\\ﬂmB 1V A=0,4B=0
AND gate can be formed by using two: %.uﬁrJ"’b._/._,,l J”J,vuu/dww’cm;u/ 190
NAND gates ffﬁg D NOR gates U~ /L gué OR gates Jf(;l B NOT gates u’-"fal:
The output of a two-input NOR gat\eg 1 Z%;.&!ﬂﬁq.&ﬁ&&;@kLb%dlu 191
Both Aand B are 1 BothAlahd B are AisOandBis 1 Aisl1and Bis O
A=1.,B=0 Y @:@zoL,uB:O by - A=0. B=1 B AsimB=0 2
When output of two NOR gates is 1, then: :‘;-_l_ea;,s,s‘fd/.:ﬁl:»_g 192
A=1,B=1 D A=0,B=0w@. C A=0,B=1 B A=1,B=0 A
In computer terminology information means _%yﬁf{uﬁf It G Sttt 193
Large dat Processed data Raw data Any data
a binlJ D Lidesy : A B ks by A
In computer terminology, machinery relates to: :;.JJ'J RV &)Lz:/”}{vf 194
Software « Zs23» D Hardware — Zs4 v C Data (3 B Procedure — .63/ A
:;lsienr;l?;?er of components of computer-based information e AL rg‘_/ A tie sl 195
Six # D Five {-}g v C Three & B Two s A
Alexander Graham Bell invented telephone in: ?g,g,lJu}ulfLJéﬁlf;kj?l 196
1976 D 1876 v C 1776 B 1676 A
The working principle of telephone is same to: :§_.¢Lﬁ*dﬂlKé_/rK£u§Jf 197
Telegraph Computer E-Mail Typewriter
SISE B Sk S J U £ Fla At 2
Telephone system consists of ......... parts: :ﬁz_t'm}}&,;:urﬂ?f”uidf 198
Eight #7 D SiX # C Four J B Two » A
Alexander Graham Bell invented in 1876: :guui1876LJ5(lf;ja,)?¢ 199
e e e e e e e e e e e e S e e
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Machine uf." D Computer )’,;.f C Telephone uﬁulf v B Cell & A
Which is the most suitable means of reliable
continuous communication between an ?&avu:(;jﬁgui:g}f/ﬁwkjﬂlqbfu.l(‘ﬂcf.w)m&'uﬂ:’ 200
orbiting satellite and earth?
Any light wave Sound waves Radio waves Microwaves
SR D J9a ksl . I9s9h s B YRV A
Who transferred first radio signal in air? :gd’i"*‘fg,,uw:m 201
Fleming <" D Coulomb /¥ C Newton /5 B Marconi $yAv A
Radio waves are: iy 202
Mechanical waves Particles Electromagnetic Stationery
Lg;ﬂ D A3 ¢ Gy 2 - S A
Fax machine is also called: u:a/d”/u'f’u'g 203
Tele]?h?ne 5 Tellelfz(c:;iir:éle’s - Computer . Radio A
o VN 4 s e
The basic operations performed by a computer are: _‘L.ﬁ,(:Td)g(j&{ 204
o @and( L Nevartmeic o Armete
Al F g F LT F o HLT 5
The brain of any computer system is: ..ﬁ:_.i,l.;Kﬁ’/ };5,‘/ d &/ 205
Control unit @+sJs 2~ D CPU ydu v C Memory dffi B Monitor ~» A
Which of the following is not processing? > ?+ufu€y;4va/ 206
Gathering Calculating \ﬁulatmg Arranging
L/ D bSO C% (9 5 oo ” A
1 byte is equal to: /*%‘/ c.dr/l/ L1 207
8 bits 8 * Vv D 6 bits 6 \Qg 4 bits 4 J* B 2 bits 2 J* A
1 kilobyte is equal to: :‘Lt”ﬁ/,l/,:;.«‘f@)gl 208
1234 bytes 5 @&L bytes . 52 4/ bytes . 19, 24 bytes |
JL1224 U824 v 524 11024
One megabyte is equal to: e bzl eAe Ll 209
1024 gigabytes 1024 megabytes 1024 kilobytes 1024 bytes
2A€/1024 : U1€-1024 ¢ U 151024 L Uo11024 .
Which one of the following is not a hardware device? :‘L.df}ujli’j/gﬁjlzc_.u:cﬂ 210
Mouse Uil D Keyboard Md/ C Windows Jsis B CPU ;j(}:u‘ A
An example of primary memory is: :cﬂ-d(}"..gd/du{d/lé 211
USB Ju~1y D DC $s¢ C CPU yJ» B RAM £,V A
What is meant by CD? Cesl e S35 212
All of these . Compact disk . Chemical disk . Computer disk i
G il o O3 BATR
1024 bytes is equal to: :‘um,ﬁ,uﬂ’uozzp 213
1 MB D 1G MB B 1KB v A
A CD can store maximum ......... data: D% pakmty org%c :¢_&’:/C,¢~ngj{;j/wk;;, _________ S5k 214
680 megabytes v D 680 gigabytes 17 gigabytes B 17 megabytes A
Which of the following is not a storage device? ?%dej’ﬁ@'/;"‘ddff-’—dfd' 215
. Keyboard Flash drive Hard disk
Cassettes u"'( D e, C Y ;58 B O A
e
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W =N
information almost about everything. S S T e i 26
Internet <z #1 v D Computer 2w C Teacher st B Book (A0 A
What does the term e-mail stand for? ?‘L.ﬁﬁb/iul)f_dl 217
External mail Extra mail Electronic mail Emergency mail
N0 Y ) T -9 [V SN 7§
Which of the following is not a web browser? ?%defl,{%}vu:{a.dul 218
Safari Mozilla Firefox YouTube Chrome
S 0 U A e ¢ iV . 2 A
Broadband information can be downloaded in: :uj(:f':L?JHUEIE:,L)L’”Ijiu 219

Two days (=ussss D 1 day JusLl C 1secussLiv B  1minyteslt A

[sotopes are atoms of same element with different -i;.m_,af?Ku%gZ_yzfixéfLml@,guﬁﬂT 220
Number of electrons Number of protons Atomic number Atomic mass

JIAJUJ'/':}..GI D )lﬁd/j;}/; . /..flfl b JLJE" v
One of the isotopes of uranium . the number of
neutrons in this isotope is:

A

eIt I T e B3 U LI TLigty 221

330 D 238 G 146 Vv B 92 A
Proton is heavier than electron: :;:;.V}fdzlﬂfu;)/?&fjgf oL }?l 222
1800 times 1870 times 1836 times 1863 times
1800 B 11870 & V11836 ¥ 71863 A

\ :‘4.)1,076/&:;)’—;71&2}/1’% 223
Five éL D Four e C Thre(@y B Two » A

The number of isotopes of hydrogen is:

Atomic mass number can be found through the relat&:; ?,;‘-,L“L?gpl’”/ul.ﬂla,‘}w‘/( 224
+N vV

A+N D Z-A k) B Z+ A A
[n %33 U , the number 92 is: \@Q:K e F92,4 85U 225
0
Neutrons and Protons an /D NeRsiGis Protons
electrons D neutr B b A
/.O, ' *\_ i )3})5 )“}"3{: \/
V2 APV 4 \AQ'}{

An isotope of Uranium is the\\h}w}nber of

e N PSS S AT T LIy 238U 226
neutrons in this isotope is: A PEI PP I T &

330 D 238 C 146 B 92 A
When Uranium (92 protons) ejects a beta “"""’Jjj%éu';%t'/@”’uﬁ’.E@(j;’égz)fff”%’%“}' 997
particle, then its number of protons will be: e 2 L
89 D 90 C 91 B 93 V A
Those number is equal in hydrogen? ?{_Jﬁ/,u,;lﬂJJ(utu?ufl, 228
Electrons and Protons and Protons and
neutrons D neutrons C Protons B electrons A
5 o ishe AL Sa ki3 754 332 8usihy v
The number of neutrons in Tritium (3H ) is: :ﬁ:_;l,uJJ’/J/:;uﬁiH f’n} 229
Four /4 D Three o C Two » v B One (| A
The number of neutrons in is: :;.;;,.JIJ},},.{U: v | 230
2 D 6 v C 1 B 18 A
bt i Fan g
Four D Three & v C Two » B One | A

Which among the following radiations has
more penetrating power?

?%a)k]}:&ﬁj&JJ/LJ:]”U:IJ,E;J}@/) 232

[ ([ ) [ [ [T i () T [ ) (Y ([ (A (i [ | i T T (S Y (T | i S ([ ) T | (S (i S [ i (T (S Y [ | (1 (U o [ Y | | ) (T ) (S S Y (1 ) S ) Y (T ) Y () S ) (T T () ) () o o () T o[ o ) o) () o o o) o o)) o S/ Y Il ) T Il [T

All have the same An alpha particle A gamma ray A beta particle
penetrating ability D ﬂ,«gwl ¢ A 2 f;glﬁ;
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S Lo §o S S0 o@pakcity-org%
What happens to the atomic number of an 2/ 'L’(//uff”LJ’M—“’/@“’&JW'JJDGJ 533
element which emits one alpha particle? ¢
Decreases by 1 Decreases by 2 Stays the same Increases by 1
¢4 nf O oy Y et 0 tieeng B
When uranium (92protons) ejects a beta
particle, how many protons will be in the ?JLlgu)%'ﬂ(_{?"}?}ééu/[;‘a.r/‘/@)uﬁjg%ﬂ?’)z% 234
remaining nucleus?
93 D 91 C 90 v B 89 A
Charge on alpha particle is: :ﬁ;bﬂ@;géﬁjgw! 235
None of the above Positive Neutral Negative
78S ) iy - J2 ; B A
Beta particle is actually: e b’ u;ﬁ}g@ 236
Positron sy D Proton uﬁg,:: C Electron s~ O B Neutron ¢s/y A
The half-life of a certain isotope is 1 day. What /Tu’i,uzLz_)/u;,;_/?-_w,g.juJQJ?,’?/TJ,J..Q 547
is the quantity of the isotope after 2days? ?Uf ﬂdfj sl
None of these One-eighth One-quarter One half |
S8t D T ¢ SGo i ¥ gt | P
Half life of Carbon-14 is: e IS 14-¢i8 238
50 years Ju- D 45 years Jv C 30 years J- B 5730yearsJ-v A
Half life of lead is: \P/Kb :%J’UJL,JQ 239
10.00 hours &£ D 10.2 hours &£  C \h;@%)rs B 10.6hours v A
Half life of hydrogen is: % :+J/UJQJ ook 240
2.85 years Ju D 30 years Ju- /*%J‘/ 5730 years Ji- B 123yearsJ.v A
Half life of radium-226 is: \O\@ :‘LJ’UJQJZZ&@J 241
5730 years Ju D 1620y &U& v C 2800 years Ju- B 4000yearsJ A
Half life of cobalt is: :‘LJ"U_;‘!,J_J’JM 242
30 years JI- v D 20 years Ju C 50 years Ju- B 40yearsJ- A
Half life of *231 is: e FIASIE 243
16.9 days 12.5 days 8.07 days 10.5 days
16.9 v> D 12.5 > : 8.07 v v . 10.5 A
The rays used for brain radio therapy are: Zuj:{./dlgé_ﬂdlﬁ“lul/»cc‘él Ak 244
X rays Gamma rays Beta rays Alpha rays
'f..fug D e Y , % y : p:.uwl Y A
......... is used for the diagnose of brain tumor: :;.t‘lggdl.&léécﬁ,clfﬁgfdmui&; 245
Carbon 14 Potassium 40 Phosphorus 32 lodine 131
14-y8 D 40- 'ty ‘ 32-056 S 131y
nuctel, the orocess woutts T WOBRET o e ra el v i 246
Absorb chemical Release chemical Absorb nuclear Release nuclear
energy D energy C energy B energy A
IESRN Sne b afs S kG iy Sne oG i
Release of energy by the sun is due to ?;.t*/ Zwlp’&}!;n‘zif u/ Gy 247
Chemical reaction Burning of gases Nuclear fusion Nuclear fission
2 5L FEga ks D e oS &L A ¢ 2 5L A . 2 5Ly A
e
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